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NOTES: Section 8.6 - Solve Rational Equations

Goals: #1 - I can solve a rational equation by cross multiplying.

#2 - 1 can solve a rational equation by using the least common denominator (LCD).
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Homework: Lesson 8.6 Worksheet v g1t
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Warm Up: Perform the indicated operation and simplify.
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Exploration #1: Work with a partner and solve the following equations.
1.%21—65- 2. x(x—4)=3(x—4)+x
0x = 40 X7-4x = 3x-1T HX
X=10 X "M%, = Y17
X -%x 12 =0

x-Dx-1=0
x=b | Jx=|
Notes:

When each side of the € (1\ \) Uk)ﬂ U ‘-\ isa S\ ng\'{. rational expression, we
canuse _( ‘(K\S} Y \ﬂ E)\l \ (knbiﬁ to solve the _{ (k’ﬂ M'\M equation.
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Example #1: Solve the equation by cross multiplying. Check for extraneous solutions.

3 9
x+1 4x + 5

qx+1) - 304x+5)
dx + 4 = VZx 1D
S

|x=-7)

)

1 X

2 2x+5—11x+8

% (Zx+S) = lIx +8

72X T +Sx = 1x rb
x " -bx -8°0

L (x*-3x-4)°0

ATV o (X -Dix+)) =0
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You practice: Solve the equation by cross multiplying. Check for extraneous solutions.

1 i: 2 2 3 _ x-3
"sx x-—-7 "x+2  2x+4
Sha=TyE (x+D(x-3) = 3 2x )
3x-21 210X .
X =x-VYv=Yx+\2
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Notes:

When a rational equation is N Q} E a proportion, we solve it by AN \ﬂ ‘“% \ ﬂg__

each side of the equation by the | (,D of each expression.

(0SE  (omoen  neminetor)

Example #2: Solve the equation by using the LCD. Check for extraneous solutions.

X 11y [-14 ( 3Ky ax x<3XA 1)
)1'(2_'“3_‘:(7}3} o Ij :\:( (x+3)(x 4))(
L)~ A% LD (% 12 (x -4)
b3 AL Bx - ¥ s i ) _ 2 - (A3
S A R TR
LY +1Wk = -4 3X-1LX-SX+20 = 2(X*-x-12) + 3
WX = -\ CRXTVIX 120 7 ZxT-2x 24 )
Tl ) 3xT1Tx +20% 217 2x -\
C KIS 30
NECL ™ B} Y B -
o (X- VD x-3) =0 (B B

X —\1| | %=3 | (20 o/
You practlce Solve the equation by using the LCD. Check for extraneous solutions.
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LCD: % LLD - x (X12)
—\L.q_x_i_‘i% ‘ﬂ ,-/ . x X1 \
TR oy +;yz'x“ra-; -‘T—Z’

\\X ——‘Z: \0 )(?’r?)( +th.__g\x _‘\g
WX =2 3
“X Z] A1X =ax +\§ Chg oL
X=¢ X -2x -\§ = O v )Y
LYQLL A \% o/ 37
S XX+ 2)0
" S =] -3
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Example #3: Solve the equation by using the LCD. Check for extraneous solutions.

U(*HU(‘HL( 6x2 3x :( 4 ) \X+L{3(X‘\l)

ox

5--\o

x2-16 x+4J

O )
LCD. (X +9)(x -4)

X~4

(0 (H) el =) ) S (x+Nx-) I B ¢ 8 D18 %a)
' 2

| A+9 ]
T
VX - (éxl—\’Zx) 29X 1y
UX1_§X2.+
1 ZX - t4)(3x-4) =C
X = 4x +ll X (Bx-1) =0

A

1

N X bx-1ge A PP
= I 0=0 W ‘j_i__,M/ | X 73)
1) x - 16 =0 ST
3X (X +4) -4 (x +4)=0 0 X 534

You practice: Solve the equation by using the LCD. Check for extraneous solutions. -1l.b
(x +3)(X-3)

2 N (X3 -3)
e e = R

Xt DX -3)
LOD- (X EDX-3)

X7 ) gy (erae3) s
w1 ey
2’ p 2 =
BXT - (4x*-12%)= 2% + b
XU 12X 2t
4X 10X -l = A BIOL)
;= T —~Z =, 1
- ?/\ LX b o =3 24y [xh.j[ A= /2
T O x| -3=0 i
Lx(x+2) -1 (x+3)-0 0 X -%'://
(x-*'i)\,f-x—l“)?o -Bi.“)/
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